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JESE) 64,897 |2[E 14026 |£H 3224 |£H 683 |2E 838 |2F 188 |£HE 1,652 |£H 1,182 | £H 8,313
1f&8mM 75,188 &R 18,661 |E%RmH 8,749 |E%[TH 1,344 |#&ETH 1,400 |ZRE&RTH 372 |dbAmth 2,260 |ZR&RTH 1,799 |FH=EmH 11,564
2 FEEH 73,305 FHET 17,937 [;E#ATH 5586 | ;EWATH 1,161 |ERFEABRX AR 1,346 |#FT™ 368 |FmA&RT 2,103 3Emh 1,720 |ELUm 10,450
3| RItE™ 72,065 | )I|I&TH 17,302 |EW&TH 4807 |HET™H 1,005 |[#FET™ 1,345 |[flET 347 MM ITH 2012 |[EUH 1,652 |KET 10,337
4 B5HM 71,749 |;E#ATH 16,729 |EI&™H 4604 =BT 917 |l 1,282 |JIlI&TH 334 |G 1,989 | KiEmM 1563 |f2Bm 10,046
5|&LVv=Fh 71,411 | FESH 16,595 |{&& 4481 Rl 897 |m#kth 1,246 |3Rh 300 |&ELV=FET 1,957 |JIlW&TH 1535 |FEm 9,973
G 70,790 JKETH 16,518 |JI[I&tH 4462 |iEm 897 |&LV=FETWH 1,213 | ERT™ 275 |fHFET™ 1,945 | KPR 1,529 |ESLV=FhH 9,749
1 FEH 70,755 |#EETH 16,303 |#&ETH 4421 |f8HT™H 857 |FEM™ 1,132 |tBE[R™ 270 |Ei&TH 1,884 |;Eth 1,427 |BifE 9,674
8 HRANXER| 70439 | HEHEXER 15871 ERIRET™ 4384 |FEMWH 822 |&HET™ 1,054 | ZEHEM™ 267 |FRIRHBXEB 1,879 |dbAum 1,424 |BRFm 9,595
9| BXRE™h 70,229 |ELMVi=FET 15,866 |dt it 4277 =&t 820 |#A#E[ET 1,037 | KiEMH 262 |luath 1,867 | ERT 1,409 |JIlI&TH 9,571
10/KE 69,937 HHIERTH 15556 |fBH&ER™ 4030 iR 817 |/kKE™ 1,003 | HEEERX &R 257 |BEET 1855 | Kot 1,406 |BERET™ 9,141
1115 68,745 |fEETH 15,185 |FH#EmH 3,931 | K:iEh 809 |FELLTH 985 |SLVf=FMH 256 |[LBETH 1,854 [E¥ATH 1,394 |IZETH 9,013
12| FREEH 67,876 |ELUTH 15,081 |FEmHh 3918 |#iRt 807 |XK:iETH 983 | KBxth 236 | =BT 1,834 |ZHEWM 1,352 | EREEBXER 8,939
13{LE™ 67,308 |HFFTH 15014 |BEAT 3874 |HEERTH 788 =Rt 965 |HEETH 232 |ELth 1,832 |{&&m™ 1,339 |fB#E[RT™ 8,929
14|#&ETH 67,169 |EI&TH 14,792 |FREEABXER 3,706 |[{EETH 787 [LETH 961 |BRZEETh 231 |EE[tHh 1,826 |EEAT 1,331 |&F#&H 8,898
15| 65,974 |RI¥BTH 14,758 |JKPTH 3,602 |#LiRTH 776 iRt 924 |®FHETH 226 |fBET™ 1,815 [Pt 1,321 |E¥ATH 8,812
16 | F2[E™H 65,947 |BX[TH 14,401 |ZR&RTH 3458 |AHEM 768 | [LETH 889 |f&fflth 224 |¥ETH 1,732 |&%0mH 1,310 |#&ETh 8,751
17| lLfzth 65,888 |EI&TH 14374 | R 3,403 |dbAdNTh 766 |FENETH 857 |FEMH 221 |Elumh 1,719 |IEETH 1,291 |#R 8,669
18| R 65,737 | REEM 14,296 L& 3314 |[ERBE™ 759 | KBRTH 840 |JKETH 201 |I®h 1,710 A&t 1,288 L& 8,521
19;EH™ 65,494 U&Th 14,189 | K4t 3289 |IFETH 755 | E#Th 837 BT 189 |BEATH 1,702 |¥MITH 1,284 |ET 8,487
20 HHRE[RT 64,976 |IEETH 13,963 |2 3279 |Euth 749 | KHoth 804 |¥riATH 187 | KiETMH 1,692 | ELNV=FETH 1,277 |Fiat 8,468
21| BRIRET 64,952 |{EETH 13,958 |EfFth 3,160 ERFTH 744 |fERET™H 798 |FHET 186 |l ETH 1,690 |HFFTH 1,253 |FRE;m™ 8,364
22| &5t 64,715 |&iRth 13,726 |i&th 3,101 |BEAXTH 744 |;E¥ATH 797 | KHath 186 |&iRh 1,670 |#EmH 1,235 |&HE™ 8,295
23| KR 64,386 ;&M 13,706 |&2HEM 3,092 |HiitETH 737 |HIfETH 748 | &¥TH 183 |®kHETH 1,666 |=&H 1,218 |#LigH 8,063
24| I BTH 63,217 |#:BH 13,613 |IUfsTH 3,040 |FnFriuth 732 |BRFFTH 747 |FREFTH 182 | KBrh 1,605 | ELUH 1,212 |lLufgth 7,941
25 #hrilmh 63214 |RBEKTH 13,240 |ALIRTH 3,001 |#&ETH 725 |#LiRH 733 |EE[ETH 179 |#FrLmh 1,591 |#AUm 1,190 &Rt 7,894
26 #L1R™H 63,206 |dtfonThH 13,224 | $riath 2970 | KHh 719 |#hidmh 727 | Ri&tH 179 |F&# =™ 1,585 |E%[E™ 1,143 |'=&mH 7,865
2738 62,763 | RKErTh 13,190 |ELV=FHh 2,946 |f&f™H 713 |FRRE™ 721 | Eluh 178 |)KFT 1,576 |[ET 1,137 | E¥H 7,836
28 B FFTH 62,652 |#LiRTH 13,142 |W\ITH 2,890 |JI|i&xvH 713 |IFETH 710 [E¥MATH 177 |FEH 1,572 |5t 1,132 | &% 7,561
29|[EET 62,637 |LLfzTh 12,968 |Hi#E™ 2,887 |#¥AUTH 699 | EF¥FTh 709 | E¥th 177 | EEdh 1,572 |f2&th 1,127 | &t 7,530
30| KiEMH 62,558 |R&RT 12,840 =Rt 2,856 |BERATH 687 |#xATH 701 |EH 175 | K»h 1570 4R TH 1,114 |f&8FH™H 7,409
31 B5TH 62,486 |[ERBE™ 12,780 |EERET™ 2815 | EEt™ 683 |EEATH 695 |#LiRTH 164 |fA¥R[R™H 1,559 |lLUfisTh 1,108 | RI&H 7,353
32 EET 62,234 | Ko 12,768 |#\HT™ 2,786 | #NITH 678 |t2B™™H 689 |fEETH 163 |[{&&™ 1,552 |$¥iiBm™ 1,101 [{&&mH 7,347
33 FFrLh 62,210 |[BH#HH 12,660 |#£Rh 2,756 |FHRETH 674 |FBFh 686 |LLOTH 160 [;ETH 1,551 | Ri&mH 1,093 | KRR 7,317
34| FXHTH 62,207 |FkETH 12,233 |f2ETh 2634 |[lET™H 671 | 678 |REATH 159 | &%0h 1,543 |REAXER 1,092 |FELu 7177
BbUEET 62,070 |{&fEH 12,126 |IGETH 2550 |Etth 663 | RIGH 674 |IKETH 145 |RI&H 1,541 LA 1,090 | Ky 7,105
36/luAT™ 61,410 &t 12,100 | Ki#ETH 2460 |FATH 663 |fAE™ 667 |#¥ALTh 142 |E#AT 1,534 | FOFrUH 1,059 |[luOm 7,101
37| &5 61,382 |fHETH 11,958 iRt 2,439 (BT 652 |lLOTH 643 @B 139 |fBRE™H 1,530 |Bi#ET™ 1,047 |FXHTH 7,080
B BEHET 61,353 | KBxth 11,871 |5t 2,323 | KFrth 652 |dLAdNThH 635 |BHEH 139 |EBfFH 1,512 |f8REH 1,021 |fEET™ 7,071
39 METH 61,194 |t 11,794 |#FT™H 2311 |&WVE=Em 649 |&iRTH 630 |£iRth 137 |HifB™ 1,449 | &R 1,018 |[E&T 6,987
40 REFH 60,166 | LLTH 11,738 |F0FRUT 2,259 |JKETH 627 |BER™H 618 |IUfFzTh 135 |$hilh 1,447 |FEH 1,010 |BEART 6,968
41| db M 60,009 |BREETH 11,644 |f@H™H 2,253 |HEREHEXER 615 |#Ith 615 |FOFrUT 135 |fEET 1,419 |BX[TH 976 |#Rth 6,720
42 | FRERTH 59,929 |IlLOT 11,643 |'ELUH 2234 [lLUOTW 600 |LLUfsTH 603 |f@Hh 134 |50 1,411 [BRE™ 966 BEET™ 6,576
43 R 59,908 | XK;ETH 11,621 | KBfrh 2,109 |Elh 590 |EBIRE™ 602 |#AiTTh 134 L& 1,393 | E¥mH 949 |fRfEH 6,519
4\ E=BH 59,781 |$&HTH 11561 |&FHH 2,095 |UFzThH 575 |{EE™ 578 |ILBT™ 134 |f@HTH 1,392 |f@HTH 917 | K#EMH 6,486
45|;#EmH 59298 |E=RTH 11,437 |[fEET™H 2040 |METH 569 |FFxILTH 577 |dbATh 133 |lLUfsTh 1,385 |JKPETH 904 [#ETH 6,358
46 f&REH 59,121 |#¥AiTTh 11,409 [lLA™ 2032 @B 546 |;Eth 566 |;ETh 132 |#LiR 1,346 |FAHET 902 |FNFkILTH 6,063
47| ReXRTH 59,090 |E#%0th 11,369 |#A Ut 1,939 |[EE&T 522 |&%0th 558 |HItBTH 130 |&%R™H 1,298 [hET 891 |dbAdNTh 6,052
48| Knth 57,712 |[LB&TH 11,304 |ELLTH 1,743 | F&F™ 508 |#aluth 517 {&&™H 127 |&&H&™ 1,285 |FEET™ 852 |m&RTH 6,032
49 BT 57,116 |fEBET™ 11,197 |=%0h 1,708 |BHETH 503 |f&HTH 507 |EW&TH 119 |#lumh 1,280 |EETH 832 |¥NTIvh 5,892
50| t23th 56,715 | #0FxUmH 10490 |[LET™ 1574 |fEET™ 469 |El&TH 441 | EHT™H 115 |BRERH 1,274 |#LIRTH 818 | ERW 5,783
51| #Ith 56,664 |BEH 8,767 |BEH 1,546 | S0 434 |EWmH 432 ERIRE™ 115 | E¥H 1,243 | FHT 696 |EELH 5,218
52 #x Ut 55,789 |#AllTh 8,634 |IEF;mh 1,321 | BRZE@™H 279 |BEFHFH 382 | B&HF™ 87 EREM 1,218 |BRERT™H 659 ¥t 4,898
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WESES 13,336 |£H 7675 |&2F 2,603 |2[F 5276 |&[F 385 | 2F 37534 |2F 7,362 2F 7502 |&F 5,652
1\ KEH 16,275 | KiZET 9,988 |XiET 3399 | H&HF™ 6,866 |FRERTH 650 @B 45278 |&EHFH 10,190 |&FFH™ 10444 |EIRET 9,391
2| Eluh 15,282 | &R 9,434 |E&RTH 3,390 |EWuth 6,858 |FHIERTH 514 |&F&HF™ 44104 |BEMETH 9,659 |EEMETH 10,333 |mi4E™™H 9,106
I BHM 14,985 |ERIEHBXER 8,845 |&iRmH 3285 |BEHwh 6,243 |ELUTH 503 |HiItE™H 43,459 |[®ETH 8,793 |#LMRth 9,547 |FFruth 8,007
4\ #L1R™H 14,844 |ALWRTH 8,710 |[LB&™ 3,140 |E&th 6,218 |E#TH 468 |FHRETH 42616 |LLfztH 8,588 |LlLfzth 9514 |&iRtH 7,537
5| RREARXE 14,777 |£R™H 8570 |EHTH 3,028 FREF;rT 6,191 |Ei&TH 459 |FRF;T™H 42286 2B 8514 =B 9,463 |fBBT™H 7,293
6|t 14,724 |BERTH 8,553 |f2fmh 3027 BT 6,183 |f&ETH 456 BERE™ 41,745 |ELUTH 8,502 |fli&E 9258 |FH#ETT 7,048
7| &R 14632 |ELVf=FTH 8,492 |#LiEvh 3021 f@FTH 6,071 |&iRH 455 |B%[ETh 41,419 |RisB™H 8437 |FE#ETH 8,756 |#FiETh 6,969
8l&LVvi=Fh 14,620 |JKET 8,491 |ELVf=FTH 3017 =BT 6,059 E#ATH 445 |SLN=FETH 40,926 |FHRETH 8416 {EBTH 8,358 |E&HEM 6,898
9 BELTH 14559 | E¥mH 8,435 |#MITH 2981 | EHtath 6,030 |XK:ETH 445 |FETH 40,636 |tEETH 8215 |&LVi=FTMH 8,311 | XFxth 6,537
10| [ LU 14417 Z=BRwW 8,426 ¥Rt 2,942 |F1FxITH 5942 |lUFzTH 444 |EIUTH 40,427 3Rt 8082 |ILET™ 8,255 |[Z=RBm 6,391
11 2&/[H 14,409 |¥MITH 8,425 |lLOT 2,892 |K:i#Eth 5843 |EX[th 443 MUt 39,819 |&LVi=FMH 8,076 |Etith 8,250 |IxETH 6,382
12{lEmH 14,394 LT 8420 AHET 2,889 |[EUTH 5816 |f2B&™H 442 |HEHXE 39791 |ERBTH 8,059 |#FiETh 8,153 |JKE™ 6,339
13l & 14,140 |FHET™ 8,277 |t 2,867 |HitETH 5768 |;ETh 439 |JKETH 39,379 | Ri&m™ 7947 | KBRtH 8,127 |f#FTH 6,327
14/ 03Ut 14049 |f#F ™ 8277 |FEmw 2,856 |SLV=FETH 5,739 |RELLTH 438 |LUfzth 39,356 |[LB&T 7,905 |lLAtH 8,092 |#iluvh 6,290
15|kKFtHh 14041 QL& 8,277 |BEMtH 2814 |#L1RtH 5734 |E=BTH 438 | KBrth 39,228 |FEW 7,786 #KETH 8,038 | 5,733
16 FRE;™H 13,947 [$8Em™ 8,223 |f#FTH 2,805 | KFrth 5718 |luOTH 438 | &ath 38,841 |HHERTH 7,755 EWh 7,969 |‘EiTH 5,635
17 ¥R ™ 13,886 |[ELUT 8,162 |[Z=BmW 2,786 |3Rth 5708 |#iITH 436 |[l&ETH 38,725 |XKiETH 7,754 | )IW&TH 7,959 |HERERHAXER 5,632
18/luA™H 13,860 |$riam 8,138 |#FiETh 2,783 L& 5705 | AEEM 434 &Rt 38,292 |[LutH 7,749 | FEH 7,929 ;#Eh 5,619
19| Hil4E™™H 13,848 |fEET™ 8,116 |IUfzth 2,755 |HEERXER 5538 |EHh 429 |JIliETH 38,242 |JIli&TH 7,651 |&R™H 7846 ZHEM 5,598
20 REh 13,819 |lu@ 8,046 |tHAEIRETH 2,752 |B&[th 5413 | B&H™ 425 |t&ETH 38,132 |HEHXER 7,566 |ERIREANXER 7,826 |FRfETH 5,587
21| &5t 13,773 |#B#IR™H 8031 | E¥Hm 2,747 LB 5399 | K&Hth 417 fEET™ 37942 EBT 7,555 |#ATTH 7,766 |f@FTH 5576
22|[ET 13,754 |t&ET 8015 [i&Em™ 2,680 |lLOTH 5376 |IEETH 413 |FnFruth 37,671 |{&MmH 7,391 |BRE;ETH 7,754 |[&SWZE=FH 5,567
23| &R 13,719 |[EBT 7,999 |Ri#ETH 2,662 |fEIERETH 5341 |{li& 412 |ILBE™ 37580 |F&fm 7,361 |EHTH 7,735 |REKTH 5,524
2438 13608 |FEm 7,932 |#&ETH 2616 |ZEEMH 5337 ERET 404 |;E¥ATH 37,396 |E&0tH 7,354 fEET 7,731 | dE A 5,487
25 ¥NTTH 13592 |ElUm 7921 |fEETH 2,603 | KHth 5304 |#LiRtH 400 |3&th 37,362 |EtTh 7,350 |#EETH 7686 |ELUTHh 5,420
26| lLUfsTH 13,565 |BHmH 7887 |&E&H™ 2595 |FEMH 5195 |JKETH 395 |Z&Ith 37,029 |E¥ATH 7,238 |fRHE[ETH 7650 | RIGtH 5,312
27 #Fhi|amh 13,532 | #0gluh 7,804 |HEHERXER 2588 KB 5155 |FEMH 395 =&t 36,955 |fEET™H 7,166 &= %0th 1614 | EBpFth 5,266
28| FEH 13,523 |FH#ETH 7,797 |#REETH 2,532 |l 5099 |HREHBXER 395 |®#xAEATH 36,947 | XFrth 7,157 3]Rth 7,583 |IRth 5,243
29 B HET 13,356 |Hi4BTH 7,752 |JKETH 2532 K™ 5004 |#rBth 392 |F%MTH 36,520 |IEETH 7150 |‘EI&TH 7436 | FETH 5,218
30 =R 13,294 | JI|I&TH 7,720 |#¥AUH 2517 |8t 5001 |&Lvi=FH 389 |#ETH 36,409 |REAKRTH 7,133 HFFH 7,206 &t 5,169
31| Kr 13,287 |f2[tH 7,719 |JIGTH 2510 |;ETH 4973 |B&TH 389 |[{EE™ 36,310 |AHEM™ 7061 | Kot 7197 |BRETH 5,152
32|JIi&TH 13,201 |‘BH#HFH 7694 |EUtHh 2503 |ERfFTH 4,898 |JIlIgTH 382 |FiaT™ 36,070 ;& 7,048 |HIHETH 7,086 |;E¥ATH 5,145
B EET 13095 &HEM 7585 |IKETH 2,482 |R&ERTH 4858 |RK¥Hm™ 380 |[luATh 35906 |&iRth 6,998 |JKETH 7074 |FETH 5,093
34 FETH 13,027 |IEEBT™H 7544 |FETH 2470 & 4821 |FHEETH 378 |HFFTH 35565 |fHET™H 6,883 fE[TH 6,982 |EETH 5,080
35 & %Nh 12,984 Rt 7523 |t 2,465 |#¥iIth 4731 ¥t 376 |HHERET™ 35534 |A’EE™H 6,877 |Fth 6,979 |#&EET™ 5,077
36 fBHH 12,957 |[de At 1471 |FEET 2,462 |LLufzth 4,699 |REKTH 375 |ALMEtH 35220 & 6,870 |BEARTH 6,926 |[{4EET™H 4,990
37| Knth 12827 | RI&T™H 7,394 | XFRtH 2456 |&RtH 4694 |fHETH 375 |IKETH 35,114 |F0FruTh 6,855 |KiET 6,891 |BEH 4,910
38 METH 12,827 |t 71274 |EW&H 2454 |fEET™H 4681 |BRfFH 369 | Z=BEM™ 35050 |EFFH 6,828 |JdbAdThH 6,777 |luO 4830
39| FHETH 12,752 |#3lUth 7273 | K&HtH 2,439 |#lth 4,608 |#Lth 362 |REATH 34995 |dtANTh 6,751 |[ERE™™ 6,756 |[LBT™ 4,799
40 HEET 12,734 | KBrth 7239 |f2E™H 2376 |F&#E™ 45771 |ILB™™H 355 |#AUTh 34912 |BEH 6,741 |E%[™H 6,668 |LUfzThH 4,787
41 ;EmH 12519 & 7,107 |\FOFruth 2,351 |;E¥ATH 4571 |E&T™H 340 | KiETH 34661 |FH&RT™H 6,739 | RIGH 6,636 |K¥H 4,779
42 128 12,428 | K»th 7,106 |ERFFTH 2,341 [db AT 4561 |[db AT 338 |f@REh 34567 |JKET 6,704 |;E¥ATH 6,631 |BX[Emh 4773
43 b th 12,369 |ARZEA™ 7,105 |S#mh 2,310 |=&tH 4,506 |f&fEmH 336 |t AdTh 34416 |lLOTH 6,617 |ZR&RTH 6,624 |EHTh 4,667
44 ¥AILUTH 12,243 |HfFTH 6,805 [dtATh 2,304 |®kEATH 4447 | KBRtH 332 |BEEH 33,790 |#AluTh 6,552 |[f#FT™ 6,443 |EBETH 4,643
45 B FFTH 12073 |#&&™™H 6,655 |REARTH 2262 =BT 4,430 |BitETH 328 | Ri&mh 33,734 |f@Hh 6539 |ERBT 6,394 |JII&TH 4,589
46{EE™ 11,801 |f@Hm™H 6,598 [;E¥ATH 2,172 |f&[™h 4373 |{&EEB™H 325 |BHEM 33,702 |Ei&TH 6,395 ¥t 6,336 |FR&RTH 4428
47 RWGH 11,800 | S 6,378 |&%0TH 2171 |¥&ETH 4263 |FEET™H 313 | R¥mh 33,157 |#Li®Evh 6,354 |#¥AIUTH 6,321 |#LiRTH 4,088
48 ;EHATH 11,368 |E#TH 6,353 |ERE™ 2,100 |F%[mH 4260 |RI&TH 310 i#Em 33073 |#FhiEBETH 6,255 |IEETH 6,263 |f&fEH 4,083
49 BEATH 10,856 |BEATH 6,292 |{E&™H 2074 |BEARTH 4189 |F1Fruth 304 |mETH 32457 | EHw™ 6,224 |ZEHEM™ 6,151 | K:iZm 4017
50| %@ th 10,765 |E¢FEH 6,192 |f8FHTH 2013 |f8FTH 4,175 |fxEATH 303 |fEHTH 32,197 BT 6,141 |f8FTtH 6,127 |#TITH 3,962
51| E&H 10,738 EREMW™ 6,150 |Ei&th 1,986 Ri&m 4097 |fEET™ 297 | K&Hth 32,118 |K&HH 5920 | FFwLh 6,077 |#HERETH 3,556
52 BIRET™ 10427 =& 5773 |E&[E™H 1970 ERET™ 3872 |fBH™ 288 |#¥iIth 31,663 |#iIT 5863 ;&M 5308 | K&Hth 2,560
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0 £H 2712 2E 4223 | 2HF 1596 |£E 8,487
1| R WL 3827 |#EFHm™ 7508 |fEE™H 2,321 |FEmE™ 10,757
2f8E™H 3,757 |&LV=FmW 5695 |LUfzThH 2263 |EUmHh 10,224
JfEET 3,690 |JKETH 5455 |[lLOTH 2230 @B 9,887
438 3,602 |;E¥ATH 5422 |fEE™ 2214 | FEmH 9,820
5| KRrm 3583 |HEHRXER 5313 |&E&H™H 2,080 |JKET 9,562
6 &N 3475 |=Eth 5193 |F#E™ 1,978 |HIfET™ 9,463
1L 3299 |FEMH 5101 |fELH 1,959 | 9,439
g|luAath 3,102 |[ERE™ 4,938 |mitETH 1,891 |FHE™ 9,291
9 FHM 3,050 |H&ETh 4817 |FEmw 1,883 |fHF ™ 9,276
10L& 3,044 |HitETH 4723 |ERE™H 1,877 | ERIFEABXER 9,143
1|3 &H 2,961 |JI|i&vH 4,683 KB 1,864 |BERETH 9,053
122Ut 2954 |=IGTH 4634 BT 1,855 )& 8,928
13 ;EMTH 2,932 |F0FrLtH 4,605 |BE[TH 1,848 |ELM=FTH 8,919
14| R ABX AR 2929 |tHHEET 4429 |&iRT™H 1,843 H#HH 8,827
15| & 2921 fEBETH 4,398 |#xluth 1,838 R 8,745
16| =LV=FH 2921 | K%t 4,351 |‘Ei&mH 1,816 | StmH 8,727
17115 H 2900 |FH#EH 4,339 |R#xATH 1,816 |f&fmH 8,725
18| FEM 2,900 |f&fmh 4266 =™ 1,801 fliET™ 8,710
19{&&H 2871 | KBxth 4244 |[RBTH 1,787 |#ET 8,674
20 ¥ ITh 2,869 | 4133 | KiEmW 1,778 | K¥H 8,644
21 B 2,805 |E&[th 4,114 |EHT™H 1,764 £Rt 8,590
22| FHEREH 2,789 |[EETH 4102 |IEETH 1,754 |{E&ET™ 8,583
23 BFFH 2,773 [lET™H 4049 BT 1,733 |[ERET™ 8,576
24 HitE™H 2,754 BB 4044 |{EBT™H 1,732 EMATH 8,567
25 | &[T 2,693 |HFFTH 3,854 |E¢[ETH 1,707 =&t 8,472
26 AR 2,658 |dbAdNTh 3,799 |HfFTH 1,672 | K&t 8,466
27 AT 2653 |AEEH 3,787 |#Fi;Aam™ 1,659 LUz 8,312
28 fRIERET 2,650 |METH 3,777 |[MlETH 1,626 |=&™H 8,257
29 | F0FruTh 2,587 |lufeth 3,713 | KBt 1,624 | KiEMH 8,195
30 BT 2,567 |REARTH 3650 |ZBTH 1,623 |fEE™™ 8,101
31| Ri&™H 2523 |fLiRTH 3,650 |FNFrLmh 1,570 fB#R[RETH 8,081
32|t@H™H 2488 {EEH 3,636 |REARTH 1,532 FHET™ 8,059
33 |ALIEH 2484 | RE¥mh 3,608 |JI|IGTH 1,531 | de At 8,048
34| B H 2,483 |#aith 3575 [E¥aTh 1,460 ;Em 8,034
35| KiEMH 2478 | K:iEMH 3547 |&LV=FEWH 1,437 |REAXT 7,985
36 Frim 2476 |EUth 3503 |;ETH 1,429 |f0gru 7,970
37|&iR™ 2452 3Rt 3484 IRt 1,422 |FfFmH 7,966
B ERET 2438 =B 3,468 |fLiETH 1,414 | KR 7,956
39| ¥aLluTh 2421 BSHH 3447 |HEEERET 1,412 R 7,946
40 HEET 2392 |IKETH 3,346 |HEARXER 1,383 | #alum 7,915
41 )kKFh 2,380 |lLaTh 3313 | KRG 1,369 |IEETH 7,736
42 & 2,340 |H&RT 3310 |ZHEM 1,352 |luOT 7,722
43;FmH 2,336 |;ETH 3299 |K&Hth 1,344 | #LiRTH 7,685
44 REh 2,330 |#FiBT™H 3278 |f&H™ 1,312 2HEWM 7,611
45| e AT 2,304 |#\ITh 3,273 |FH#&RTH 1,307 |[EE&TW 7,433
46| Kot 2280 |FkATH 3,143 ¥\ ITh 1,302 |BHEmH 7,431
47| ReXRTH 2246 |f&FHTH 3,091 |FEF;mh 1,277 |ZR#&RTH 7,391
48| LUz h 2,180 |EE[th 3,061 |#/Eth 1,271 | $¥iBm™ 7,281
49 ERET 2,148 | Elg™ 3,041 |dbAuh 1,251 &R 7,180
50 B H BT 2,143 |&iRtH 3027 | EETH 1,236 |f8HTH 7,063
51| t&fE 2030 |F#HH 2,615 |f&fE™™H 1,090 K& 6,907
52 FkETH 2,007 |BHEth 2,405 |fHETH 1,048 |¥MITH 6,628

20224 (M4 %) ~20244F (HF16F) Fi5



